0
POLYCET-2018

Hall Ticket ‘ I
Number : i

l Time : 2 Hours

Signature of

Total Marks : 120
the :Candidate s =

Note : Before answering the questions, read carefully the instructions given on the OMR sheet.
e 1 (40 asrwen [Fraked o OMR aaraw Hesdns® QdRBD e er|ddne SSDod.

SECTION — 1 : MATHEMATICS (/38 7°9%w)

1 ab(c)=al(bc) is called property.
(1) Associative (2) Inverse (3) Identity (4) None
ab(c)=a (b;) RV~ QoNLrd) Ardod.

(1) &3S6 ¢80 (2) WD wrgavo (3) 88y (4) b s
2 J§+ﬁ 15 number.
(1) Natural (2) Rational (3) Integer (4) an Irrational
V5 + 7 ods dowg
(1) &ees (2) esddat (3) ¢ (4) ssda

3 {logg \/3\!3\/5) log, o 0.01 =

= (7 1 1
— ] - S—— - s || i X : -2
o (5) A (16) & (16] & (8]

SPACE FOR ROUGH WORK / 9 %08 Séranoswds oo
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4  Exponential form of log, 64 =3 is

logy 64 =3 8 Hré drdo

(1) 3% =64 2 42=81 O 4 =64 (4) None

3 J20+‘J20+’\/20+ ....... oo =
(1) 1 2) 3 3) 5 @) 6

6 From the following Venn-diagram B - 4= .
:‘3 0 'QLM B— A=

A B

1) {1,2,3} 2) {4.,5} 3) {6,7} (4) None (98 &%)

7 If A= {a,b,c,d}, then the number of subsets for 4 is

A={a,b,£‘,d} oD 4 8 ) & Sddevaryon?
(1) § (2) 6 (3) 16 (4) 65

8 If o, P,y are the zeroes of the polynomial f(x)=gx3 +bx? +ex+d. then

el
o By T
o, B, Y 0o ax® +bx? +cx+d o wions Ao, é+%+$= S
(1) - (2 - 3 — 4 -
d C d d

SPACE FOR ROUGH WORK / 9 308 Séravoseads Rt
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10

11

12

13

A quadratic polynomial whose zeroes are 5 and -2 is

5, =2 drargerr fe ég 20000 .

1) xX2+5x=2 @) X +3x=10 ) x> =3x-10 @) x*>-2x+5

lines.

The lines represented by 5x+7y—14=0 and 10x+3y—-8=0 are

(1) Coincident (2) Vertical (3) Parallel (4) Intersecting
Sx+7y—-14=0 ©8am 10x+3y—-8=0 Bpen __ Tped rdoHd.
(1) 2859 (2) Qe (3) Jrodd (4) oD
x V X Y
e S —— — 6 .V 1
If 3 and 579 . then X,y 1s
x Yy x ¥y
— e — 5 —_—— — = 6 ) y
773 wdHa 579 ®ON X, )V Jdenwdew
(1) (9, 14) (2) (14, 9) 3) (7.9 (4) (14, 18)

2

The graph of y+ x“ = 0 lies in the quadrants

y+ X =0 B, (TP @ Forod® dotnod?

M 9.0 2) Oy. U5 3) @5, Uy 4) Q4. 9

Solution of the equations -\Ex—kﬁy:{] and ﬁx_JEy=u 1S

V2x+/3y=0 ®8a 3 x—-/8 y=0 chsdere ed

1 x=1,y=0 () x=0,y=1 @3) x=1,y=1 @ x=0,y=0

SPACE FOR ROUGH WORK / D& 08 Séranoseds Do
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20

21

22

23

24

Find the 10t term in A.P. 5, 1, =3, —7......

5.1, =3, —7...... @08 @&S° 10  H5d0 Jdoes?
(1) =31 2) 31 (3) 41 4) 71

If a.b,c are in AP, then p - g =

a.b.c e AP. & aS p—g=

a+c

(0 =% 2 c—b 3) b* -1 @) a-b
a
If a,b,c are in GP., then E=
a

a,b,c e GP. & a5 E=

b b c c
(X = ¥ (3) 4) —

a C b a

Sum of natural numbers from 1 to 100

1 S08 100 & do Sres Sopge Avdo
(1) 4050 (2) 10100 (3) 5500 (4) 5050

The co-ordinates of point which intersects the line joining the points (2, 3) and (4, 5) in
the ratio 1:2 internally

(2, 3) & (4, 5) DochPod Sen Spd 1:2 AK8S® wosdorr Ao Doty NrHEHven

g8 11 8§ 11 8 11
(1) T3 3 (2) 35? (3) Er—_"‘j‘ (4) None (286 s*éb)

SPACE FOR ROUGH WORK / & 08 $éranosads o
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31

32

33

34

35

36

Which of the following are not sides of a Right angled triangle ?
& 1808 T86° oow B (Bghe: Zheren P
(1) 9. 15, 12 ) 9,5, 7 3) 4, 5, 3 @ 2. +5.1

Height of an equilateral triangle whose side is x units is

S e (Bgheso BwEy gheso X UNIts GO TP & units.

(1) -‘3'-"-‘2/—-5- ) If 3) x3

(4) None (2b& s°)

In AABC. D, E, F are mid points of the sides AB, BC, CA respectively. Then Area of
ADEF : Area of AABC =

AABC & D, E, F e» &3 AB, BC, CA o ®¢g Hohpds ADEF 3wrego :
A ABC 3wego =
(1) 1:4 (2) 3:4 (3) 4:4 4 1:1

Number of chords of a circle is
&8 H)E°d8 Aaxdd arg © Domg
() 20 (2) 18 (3) 2018 (4) Infinite (©doé&0)

Angle in a semi-circle is

©g Hdo &) Swo
(1) 270° (2) 360° (3) 90° (4) 180°

How many Tangents can be drawn to a circle from a point outside the circle ?
a8 arirg DothP wod )88 Aandrd 9)8) Bwe Dopg
(H 1 (2) 2 3) 3 (4) Infinite (edoso)

SPACE FOR ROUGH WORK / & 38 Seranoseds goiu
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37

38

39

40

41

42

43

The angle between a Tangent to a circle and the radius drawn at the point of contact is
930y DochYy B w8 Hyso B)8) Tw8 od argIrdo Baw Swo
(1) 30° (2) 45° (3) 60° (4) 90°

Sum of all the angles at the centre of the circle
H)8 Solo K DY ©d) Swre Twdo
(1) 180° (2) 360° (3) 90° (4) 100°

If » =7 ¢m and x° =30°. then area of sector =

r=7cm ®am x =30 vond e 25°8 Brrergo =
(1) 12 cm? (2) 12.22 cm? (3) 12.44 cm? (4) 12.83 cm?

Number of vertices of a cuboid is
&55: o B ﬂg‘rﬂ dowg
(1) 4 (2) 6 (3) 8 4) 9

If the ratio of radii of two spheres is 2 : 3, then the ratio of their surface areas is
Bodh Aere Tgrore RN 2:3 ood 78 (98 do Dreorgo KNS
(1) 3:2 2 4:9 (3) 9:4 (4) 8:27

Ratio of volumes of a Cone, a Cylinder and a Hemi-sphere of same base radius and equal
heights 1is |
28 2 Tggo Hda Kben Ko FowY, Hrdo Hoak ©f Rrere 0 dSrmre XS
(1) 1:2:3 {2) 3:2:1 (3) 1:3:2 4) 3:1:2

The area of equilateral triangle 1s 361.6 cm?, then the perimeter is cm.

B erd (Bghe: Ferego 36\/?-’ cm? oowd o HewFeod
(1) 16 (2) 32 (3) 36 4) 72

SPACE FOR ROUGH WORK / D& 08 Seranosedsd o
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44 If 3tanA =4 then sin 4 =

3tan A = 4 ®ond sin 4 =

= 2y 2 3 2 :
(1) 2 (2) 3 | (3) 5 (4) 5
2tan30°
45  —
]l —tan~ 30
1) — 2) V3 G) = @) 3
J§ - 2

46 tan48 -tan42° =

(1) 0 2) 1 (3) 2 4 3

47 (1-cosB) (1+cosB) =

(1) sin’ 0 (2) cos 6 (3) tan” 0 (4) cot® 9

48 If tanB—cotB =1 then tan29+cnt29 —

tanB —cotB =1 eond tan28+c0t29 =

(1) 1 (2) 2 3) -1 (4) 3

49 If x=acosB, y=bsech =
x=acosB, y=bsech = eond

(1) xy= azbz

2) x°y% =ab 3) x%y% =a’bh®> (4) None (96 s)

SPACE FOR ROUGH WORK / & %08 Seranouseds gom
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55

If a die is rolled once, what is the probability of getting a prime number ?

o PAED o IO FROVKYHE [HGPS Jopg HT) VogrHgd Jod?

1 1
1 -~ 4 =
(1) 2 (2) (3) 2 (4) ~
§6 The mean of 6, 5. 4, x, 2 is 4. What is the value of x ?
6, 5, 4, x, 2 © &ty 4 ®and x Jewd
(1) 3 2) 4 3) 3 4) 6
57 What is the median of 16, 12, 4, 5, 6 ?
16, 12, 4, 5, 6 © HgrsHw
(1) S (2) 16 3) 6 4) 12
58 Find mode of 7, 2. 3, 4. 3, 3, 4.
7, 2, 3, 4, 3, 3, 4 o 230¢saw
(1) 2 (2) 4 3) 7 4) 3
§9 The mid values of the class is used to calculate
(1) Arithmetic mean (2) Median (3) Mode (4) None
8568 Deg Jevden (8od TES* B S8 Ha°A8 ADIArAPD?
(1) Heféw (2) gy Hso (3) exroeissn (4) 28 =
60 If Median = 60, Mean = 61, then Mode =
Dt = 60 e = 61 eoawd wiugEo =
(1) 58 (2) 38 (3) 48 (4) 68
SPACE FOR ROUGH WORK / 9 %98 Seronoseds gomo
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61

62

63

64

65

SECTION - II : PHYSICS (°88 #%9%w)

If 'R" is radius of curvature of mirror and f" is focal length, which of the following relation
is correct ?

R' &30 65800 Bngy, Y egrgo Hda f’ &RB TrPrgodsin wans & (808 TE38° 10 eand
NOI0GIT

(1) R=f (2) 2R=f 3) R+2f=0 (4 R=-2f=0

Parallel rays incident on a concave mirror, on reflection meet at what point ?

(1) At pole (2) At focal point

(3) At centre of curvature (4) Any where

PErseE SEINOD HETDHY Hhrods 5708 Bderen JorHEShn BobY Shard I5) & SenIrow?
(1) &ydo & (2) =d &8

(3) Hgw SoBo ] (4) %8>

Type of mirror used by dentists is
(1) Plane mirror (2) Convex mirror (3) Concave mirror (4) None

God Dedogen AOBEAODE HH0ES S8y
(1) Shode d6ymdin  (2) Hoyrsed G8miw (3) YHerses S8y (4) I8 2 -

A spherical mirror whose reflecting surface curved outwards is
(I) Convex mirror (2) Concave mirror (3) Plane mirror (4) All the above

D Fvrsrd SO ENS® HorHEd Sl HEAL BANLH Gokwod.
(1) . Hogrs:d By (2) Persey S8y (3) Shde Sy (4) ?“_"’&’;L

In case of Bi-concave lens line joining centre of curvatures is of what shape ?

(1) Straight line (2) Curved outside

(3) Curved inside (4) None

28 Bg PErseE Sbso B H¥e Sorod SOD Ty 2 Erdos® dotwod?
(1) d5¢ B (2) HzseB errgorr
(3) Yssotn &0 P (4) 28 s

SPACE FOR ROUGH WORK / D& %98 Seronosads gob
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66 In case of lenses. light rays travelling through principal axis
(1) Travel in same line without deviation
(2) Always converge at one point
(3) Always diverge at one point
(4) Converge (or) diverge depending upon type of lens
E0%5006° (HErargrd8 Srosshurr (Haxredon srod 8daren
(1) dSedo BosHoa® ©B HrEos® (HaxredYrow.
(2) dexdypdr of Do 5 So|dsdolwdberon.
(3) debypdr a8 Doy & Jso|bgdoese~ow.
(4) s Bw1g) 85°9) 218 So|dssnin Bar JSo|BEBoRISE" 0.

67 Which one of the following material can be used to make lens ?
(1) Iron (2) Plastic (3) Glass (4) Clay

& (808 O Sorgrd) SLESL SoXrbE SIDrAYE?

(1) adw (2) 28 (3) rrer (4) 085D

68 Which of the following is true in case of concave lens ?
(1) Erect and virtual image (2) Inverted and real image
(3) Erect and real image (4) Inverted and virtual image

Persed EH5°AB 50220000 S Bod T¢3S° 9B ©ondHd
(1) et DBk Darg (HBDowis (2) o Bothe DB Jes BBV
(3) 2 ew DOH e (HBDow) (4) SolBoche DBo% Darg [HBDoS

9  Which of the following indicates lens formula ?

& |Bod Te3S° DB K&K drErd) BdaNEod

] 1 e . 1 1
(= o W =T @ f =)

SPACE FOR ROUGH WORK / & 308 Séranowsadd dedn
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70

Focal plane of a lens is a plane

(1) Parallel to principal axis at the focus only

(2) Perpendicular to principal axis at the focus

(3) Parallel to principal axis at centre of curvature

(4) Perpendicular to principal axis at centre of curvature

g8 oDy doo URO

(1) Permrgrd8 Shroddorr v o ar@d Ko doo
(2) Doz voworr P & Mo deo

(3) PeErA8 Shroddorr H¥ee Bolgo B¢ Ko seo
(4) Rererd8 woworr HFee Solgo ¥ Ko deo.

71 Least distance of distinct vision for normal eye is
(1) 15 ¢m (2) 25 cm (3) 30 cm (4) 35 cm
68 g Ho&H DR S EXK Srdaw
(1) 15 bohn. (2) 25 20.0. (3) 30 20.. (4) 35 20.2.
72 Which lens is used to correct Myopia ?
(1) Convex (2) Concave (3) Cylindrical (4) None
[@PRe G0 D0 Voue®H BHIDrAow SeEHw
(1) Sowrses 2) Hersd () e 4) 98 s
73  Splitting of light into seven colours is called
(1) Refraction (2) Reflection (3) Dispersion (4) Scattering
S°08 b Sothenrr DBIHE) Dodrd?
(1) HBsSH (2) Hordss (3) 5708 JSxe0 (4) s~08 HBFx0
74 A prism with an angle of 4 = 60° produces a minimum deviation of 30°. The refractive
index of the material of the prism is
28 B8 Gy Fedw 4 =607 ook X dled Swdtn 30° wand ¢ HEY Horg HBS
D8 Jod?
) V2 2 2 3) V3 @ 242
SPACE FOR ROUGH WORK / & 598 Séronoseds e
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75 Raman effect is related to which phenomenon of light ?

(1) Refraction (2) Reflection (3) Dispersion (4) Scattering
orho® HOSHN 5708 gy & $HNoKrAs HoOHOWHH
(1) Herssso (2) DoedEHHW (3) Jdeso (4) HOEdeE
76 Rainbow is formed due to of light.
(1) Refraction (2) Dispersion
(3) Total internal reflection (4) All the above
20| DY VEYHOH SEEHn P08 gy
(1) HBessoaw (2) DEdeodw
(3) %ogrg wods HorHSHo (4) D o)
77 S.1. unit of Electric current
(1) Volt (2) ampere (3) watt (4) ohm
g a8 S.I. Horeo
(1) &g (2) wo>andb (3) =& (4) &
78 Find the effective resistance of ‘the combination between A and B.
A, B DothPe ey HOS B G0 Jod?
20 80
A K B
6 14 3
20 3
(1) — Q 2) 20Q 3) 10 Q 4) — Q
3 20
SPACE FOR ROUGH WORK / & 8 Séranouieds RS
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79  Drift speed of electrons in an electric conductor is

80

81

82

(1) 7 mm/s (2) 70 mm/s (3) 0.07 mm/s (4) None
WDg8 rsanG” JoFrey (85 S8 (W5 38) Jos?

(1) 7 D.v./ 2. (2) 70 ../ . (3) 0.07 ../ D (4) 8 ==

The resistance of conductor depends on

(1) length of conductor (2) area of cross section of conductor

(3) nature of the substance of conductor (4) All the above
a8 L A W BID BErdih®?
(1) ordrsin Fa (2) =¥rso EgHYE Brreghn

(3) ardrs Horg dgarBD (4) 280

Ohm's law is valid for
(1) Gaseous conductors (2) Metal conductors

(3) Semiconductors (4) Insulators

LD JoHErY) #r (8o ¢3S° D Fesron?
(1) aro¥n ardesren (2) &% srarusren

(3) og >Fsew (4) g8 woseen

Which of the following is used to prevent damages due to overloading to the household
circuit ?

(1) Switch (2) Fuse (3) Resistance (4) Semiconductor

R0gS” L3568 Hod SOR Hhrord) JTB0SErI8 & 808 eSSt BID Eers?

(1) RS (2) s (3) dteEaw (4) o8 gm0

SPACE FOR ROUGH WORK / D& H08 Beranosedd RRO%)
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83

84

85

36

Induction stove works on the principle of

(1) Electro magnetic induction (2) Generator
(3) Fuse (4) Switch
204858 35 @ JavoD M BFwod?

(1) g8 eandyod (e (2) 2868
(3) orgs (4) 283

The number of field lines passing through the plane of area '4' perpendicular to the magnetic
field is called

(1) Magnetic induction (2) Magnetic flux
(3) Magnetic flux density (4) Solenoid

©onr) 08 Flerd8 eoworr 'A' Brego Ko d0o thoar T we e Songd wod
(1) ®ar)od e (2) ®abr) 08 edarsro
(3) ®0Hr) 08 dardr Jo|Ss (4) DOranb

Electric power generated in a circuit placed in uniform magnetic field in electro magnetism
1S

Derg8 LaHFg08EBE BowoPod D wany ol §EE'D Swanos® s g

I At Ad

AQ
1) P=—— 2) P=—— 3) P=1— 4) P=]
.( A (2) 3) A “4)

I At

The induced current will appear in such a direction that it opposes the changes in the flux
in the coil is

(1) Ampere law (2) Lenz's law (3) Ohm's law (4) Faraday's law
8 DS P Srth Yo 988808 B3S° (m g8 o dodwod. BB

(1) o>and Javdo (2) Bof JavHo (3) &5 oo (4) 68 davdo

SPACE FOR ROUGH WORK / 9 #38 Seronosedd gowmo
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88

89

90

S.I. unit of magnetic flux is

(1) Tesla (2) Weber (3) Weber / meter (4) newton

®aO) 08 ©dFFIS S.I. (Hbreo

(1) 8 (2) 38 (3) 6 / &b (4) drgeS

Which of the following converts mechanical energy into electrical energy ?

(1) Motor (2) Battery (3) Generator (4) Switch
axro[@E 80 g8 8 HrB)0

(1) 3reb (2) ergesd (3) 258086 (4) g%

The value of magnetic flux density which is uniform is 2 7, what is the flux passing through
a surface of area 0.5 m? perpendicular to it ?

(1) 1 Weber (2) 10 Weber (3) 1.25 Weber (4) 0.25 Weber

S ©andry o8 §B06° wahdry o8 wdordr Folds dewd 2 T, §ed8 eoworr &) 0.5 m?
g0 thoar [Harrelod edardro Jos?

(1) 1 Weber (2) 10 Weber (3) 1.25 Weber (4) 0.25 Weber

A 10 N force acts on a rectangular conductor of 5 cm long placed perpendicular to a magnetic
field. If the current in conductor is 50 A4, then B

(1) 0.4 tesla (2) 2.5 tesla (3) 25 tesla (4) 4 tesla

©03 08 FlEd8 eoworr &0l 5 W0.D. PEY Ko Y SHERH Mgl s 10 drgess weo
N Bod. rgos® 50 wobang gl HErEro dH)HPE B dewd

(1) 0.4 tesla (2) 2.5 tesla (3) 25 tesla (4) 4 tesla

SPACE FOR ROUGH WORK / Q& 08 8éronosdsd R
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92

93

9%

SECTION - III : CHEMISTRY (8ara%d Eﬂ@a‘m)

What is the ratio of no. of moles of H, to H,O in the balanced equation of this reaction ?
H, +0,; — H5O.

Hy +O; — HyO & 830a038 S5 deg bEsmos® Hy oot H,0 Bwey s dowg A8

€13 3 :1 {2y 2] (3 1:2 “4) 2:3

The precipitate formed when silver nitrate solution reacts with sodium chloride solution
1S

2eg6 BBy (im0 FBaro FBE (w08 $8s 0V DEYE Vi
(1) NaOH . (2) AgCl (3) Ag(OH), (4) None (98 sv)

The atomic mass of Sodium is

FFdavo AwE) MWhre (S o°3

(1) 16u (2) 23 u (3) 46 u (4) 63.5u

Gas/es evolved when sodium Carbonate reacts with hydrochloric acid.
(1) Hydrogen (2) Chlorine (3) Carbon dioxide (4) All the above

TE §'08 wivo, FBavo o8 AUSE S0 2OBEYW Dedd Fatw / ew
(1) ?Lﬁa‘ﬂﬁ (2) fbﬁ (B) se6)R B us)d (4) a Hﬁ‘g_

When a metal oxide reacts with an acid, the products formed are
(1) Salt + Water (2) Salt (3) Base + Water (4) Only Water

e &' uB)8 IBI wiol’ Sdg wOBEYD, V6B Gs T en
(1) o%wo + Mo (2) o0 (3) sro + Mo (4) D S

SPACE FOR ROUGH WORK / & 98 $eranoseds o
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102 The number of d-block elements in the fourth period of the modern periodic table are

103

104

105

WIS wssH HI8S° Tred Boans &%) d-zrf drosre dopg
1) 6 2) 8 3) 10 (4) 18

Which of the following is correct while going down the group in the periodic table 7

(1) Atomic number increases

(3) Atomic radius increases (4) All the above
wss 58 6 1 pS® D wod BosH Fah Fed
(1) ddray Sopg HrH&OL. (2) s8yore Jomg DHEOH.

(3) MdErmy wrgardo WhHHEH0B. (4) 5o

Which of the following elements is bigger in size compared to others ?

1808 =¢36° o Mreshin dier ST Iy d Hhradn Kod?

(1) K (2) Be (3) B (4) N

The condition for the formation of ionic bond between two atoms
(1) Elﬂctmnegatiﬁty difference is greater than 1.9

(2) Similar electropositivity

(3) Atoms of same size

(4) Electronegativity difference is less than 1.9

Body HSArWYO DY VA OGN BB’ Ko JaHidn
(1) S dbgers 80 Bar 1.9 S08 d2HpH

(2) &8 ¢85 Abger 88 OA aodso

(3) o8 HDHrdn DAY HEErHeD

(4) So Abgors) e Bar 1.9 508 &ty H

(2) Number of shells increases

SPACE FOR ROUGH WORK / & 308 B&ravouieds DT
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106

107

108

109

110

111

Which of the following molecules does not obey octet rule ?

1808 ¢36° o8 JoHErd) FEoud BwY IB?
(1) NH, () CH; (3) H,0 (4) BeCl,

Lateral overlap of orbitals results in the formation of

(1) o-bond (2) Hydrogen bond (3) m-bond (4) Ionic bond
eh]d Hbgt.:"ef APPSR DO Dﬁgﬁ 20450
(1) o —wogo (2) &8 wogo (3) m—wogo (4) ©ardE ogo

The number of lone pair electrons present in the valence shell of central atom of water
molecule is

D8 wenHs® Bo|ss HSErmY erdrg SEeS° BD) 20D JOFIS Bobe JoPg
(1) 2 (2) 4 3) 3 4) 1

In which one of the following, bond angle is minimum ?

1Bod ¢36° 204 o Jevd SKD obd
(1) BeCl, (2) BF, (3) CH, (4) NH,

Who proposed the ionic bond ?
(1) Lewis (2) Mosley (3) Pauling (4) Kossel

S oo (DBVHOWN T
(1) ewrowrd (2) 3D (3) >®oh (4) &5

The process of heating an ore in the absence of air is
(1) Roasting (2) Smelting (3) Calcination (4) Corrosion

md BHoar HHD 8 B HBaH
(1) =% (2) Exso%o (3) #8880 (4) &% govo

SPACE FOR ROUGH WORK / 2 {08 Séronowsedd oo
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112 Cinnabar is the ore of

) 2B & &
(1) Ag (2) Cu (3) Zn (4) Hg

113 In which of the following methods, the molten metal is stirred with green wood logs ?
(1) Distillation (2) Poling (3) Liquation (4) Electrolysis
800 D HPBS® (5B S'drod HN) YPoB e LeHErh?

(1) Rogesssw (2) ok (3) Koo Dando (4) d0gd w0

114 C-C bond in ethylene is formed by the overlapping of
(1) sp>-s orbitals  (2) sp-sp orbitals  (3) sp?-sp? orbitals (4) sp®-sp orbitals

addS S0t C-C 2065w ¢ 08 do Hod IE)H.

(1) sp-s @0 ereh  (2) sp-sp ed)yergh  (3) sp2-sp? @ yereh (4) SpZ—sp @B Ergh

115 The distance between two adjacent layers in graphite
Bod (S Pdo HEg Erdo

(1) 3A 2) 4A 3) 3.35A 4) 3.6A

116 General formula of saturated hydrocarbons
S08)5 W& 880 Ferdn Fo e

(1) CnH2n+2 (2) CnHZn 3) CnHEn—Z (4) Can

117 The formula of compound is C,H¢. What is the formula of next compound in the homologous
series ?

a8 S UE) Foddssw CHg 28 Sherd @S’ sdhard 28 )¢ FoB888HN?
(1) CH, (2) C,Hg (3) C;Hg (4) C4Hg
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118 The IUPAC name of CH; —CH,; —CH, —CHO s
(1) Butanol . (2) Butanal (3) Butane (4) Butene

CH3 HCHE '-CHE - CHO ﬂnﬁa_ [UPAC &Haw

(1) ewgerSS (2) wrgoed (3) arg®S (4) argelS

119 Combustion of hydrocarbons is generally accompanied by the evolution of
(1) Heat (2) Light
(3) Both heat and light (4) Electric current

TE soE)R0h Sirdo Dawed Db HH/T ADHEHH

(1) &0 (2) s*08
(3) &o HBaw 5708 Bodridr (4) gd Hriro

120 Which of the following is used as a catalyst in Hydrogenation Process ?

P& 2860 (BN, (B0d ESS° ABYSSHVT TEHDO
(1) Cu (2) Fe (3) MnO, (4) Ni
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